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I- Groupi1: 1 -7
Il- Group2: 8 - 13
I11- Group 3: 14-24
IV- Group 4: 25-33
V- Group5: 34-38
VI1- Group 6: composition

s gala

Al e Jlge 0K Ziniad) Akl g -

il LY ) e (X) sl pas -

L) i€y el Lsf3ll B Ao ganall Bulgs die wliye & pagis degana IS ALY Clagd pand -
P el aallly 4

Gaally miaall (g0 IS daeng lasall Joan b L) padaddl) Jisll ) degene IS Anp2 pdn -
(ydially slaVly sl Jos blelye pa) lgale adsg dad

Lapaall Jsial) 35 cilaal) g555 ity Jalall Jsanll ek oliady) poange o dlgs 2 -
& Cpa IS ALl das IS A aagis dlaYl ddyy e (T, G, V, S, C) caynV) pasis
bl Jeaa B ] padaddl Jaadl ) ad5is e (e pagiy pans

2 0aaY VY ale 40N A3t B il Gald /galadl/ 4 50y ARl 3La A 5 80 5 90 Ada gl el g ) gl g il (3 gRa

(rrrrrrrprrrrrrrrrprrryrrprryrrprrryrryrrrrpererererererererererererererererrrer e e rrrrr e er e e r e e rrrr b rerrrrrerrrerrrrrrrren

Lrrrereenreenrerireerrerrrerrreerreerrertrerrrerrrerrrerreerrerrrerrrrereeerrrrrrrreree el

ey prprrprprperperpererperererererperperperperperpererperperererperperpererpererpererererererererperererirrrrreryn]



L e rerererererererererererereeereeeeeeeeerrrrrerrreerrrrrrreeenrnl

Groupl From 1-7
Model answers: (1-3)
1- People/ They visit zoos to see animals that they can't see in their own country.
2- Zoos are unnatural for wild animals to be kept in captivity.
- Z00os may be located in places where the climate is very different from the climate
of the animal's country of origin.
3- Z00s.
Remarks from (1-3)
(N.B): - Information between brackets is optional.
1- Each item is allotted 6 marks.
2- Overlook irrelevant information unless it exceeds one sentence. If so, deduct 2
marks.
3- Overlook copying, grammar and spelling mistakes and capitalization.

4- Any logical answer related to the text is accepted.

Model answers from (4-5)

4- extinction

5- located

Remarks from (4-5)

1- Each item is allotted 5 marks.

2- Only the above mentioned answers are accepted.

3- Overlook capitalization and copying mistakes unless they give rise to another

word. If so, the answer rates zero.

4- If the student writes two answers for the same item, consider the first.

Model answers from (6-7)

6- According to many environmentalists, zoos save/ protect animals which are
endangered/ rare animals.
7- In China, after breeding the giant Panda in zoos, they are/ can be set free (to live in

the wild again)/ they increase in number.
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Remarks from (6-7)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted in addition to any logical answer.
3- Overlook spelling, grammar, copying mistakes and capitalization.

4- If the student writes only the correction without rewriting the whole sentence, the

answer rates 3 marks.
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Group 2 From 8-13

Model answers (8-9)

8- b/ after winning Nobel Prize

9- a/the whole
(N.B): - If the student writes only the first word of the correct answer,

the answer rates full mark.

Remarks from (8-9)

1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers for the same item, consider the first.

4- Overlook copying mistakes.

Model answers (10-11)

10- remarkable

11- scripts

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers for the same item, his answer rates zero even if
one of them is correct.

Model answers (12-13)

12- ... history, society and politics .
(N.B): 2 marks for each item.
13- his / Mahfouz's masterpiece.

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook grammar, copying and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.

5- Any addition or omission that makes distortion, deduct 1 mark.
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Group 3 From 14-24

Model answers (14-16)

14- in
15- the
16- be

Remarks from (14-16)

1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Spelling mistakes are overlooked, unless they give rise to new words.

If so, the answer rates zero.

4- If the student writes two answers for the same question, consider the first.

Model answers (17-20)

17- dying
18- money
19- help

20- attracted

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If the student writes two answers in one space, his answer rates zero.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)

21- (For) How long have you had your computer?
- For how many years have you had your computer?
- For how much time have you had your computer?
- Who has had a computer for 5 years?
- What/Which thing have you had for 5 years?

22- What do you use it for?
- For what reason/purpose do you use it ?

23- What should we do to protect our computers?
- How can we protect our computers?
- What/Which programmes do/should we use to protect our computers?
- Why should we use anti-virus programmes?

24- (Answers vary)

Remarks from (21-24)

1- Each item is allotted 8 marks.

2- Deduct 2 marks for wrong question word/ word cluster.

3- If the student writes a wrong question word with more than one grammar
mistake, the answer rates zero.

4- Deduct 2 marks for a grammar mistake provided that the total deduction
shouldn't exceed 4 marks.

5- If the student writes two questions for the same answer, consider the first.

6- Overlook capitalization, punctuation and spelling mistakes.

7- If the student writes the correct question word only, his answer rates 2 marks.

8- If the answer is included in the question, deduct 2 marks.

9- Any logical question or answer related to the dialogue is accepted.
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Group 4 From 25-33

Model answers (25-28)

25- Rana had those photos/ them taken.
(N.B) - The four steps to form the causative are required, otherwise the answer rates zero.
- If the student uses the negative form, deduct 2 marks.

26- A lot of crops (in the village) were damaged by the storm.
(N.B) - The first three steps to form the passive are required, otherwise the
answer rates zero.
- If the agent (by the storm) is not mentioned, deduct 2 marks.

27- (The teacher asked us) if/whether we had enjoyed our holiday.
28- (I wish) my sister wouldn't / didn't spend a lot of hours talking on the phone.

- (I wish) she wouldn't / didn't.
Remarks from (25-28)

1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction

should not exceed 4 marks if the sentence still makes sense.
4- The words between brackets are optional.

Model answers (29-30)

29- (answers vary)

30- (answers vary)
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Remarks from (29-30)
1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically

correct.
3- Deduct 1 mark for any grammar mistake.

4- Overlook spelling mistakes unless they give rise to another meaning.

If so, deduct 1 mark.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks

if the completion still makes sense.
5- Overlook punctuation marks.
6- Any logical completion is accepted.
7- The clause must contain a subject and a verb. If not, the answer rates zero.

Model answers (31-33)
31- in order to
32- put up with
33- rewind
Remarks from (31-33)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes.

4- Two answers for the same number rates zero.
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Group 5 From 34-38

Model answers (34-36)

34-  will visit
35- has been studying/ has studied
36- had built

Remarks from (34-36)
1- Each item is allotted 6 marks.
2- Only the above mentioned answers are accepted.
3- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark.
4- Complete (verb forms) are required, otherwise the answer rates zero.
5- Deduct 2 marks for n0.35 if the student uses have instead of has.
5- In case the student writes two answers for the same number, consider the first.

Model answer (37)

~eladl) b [ Gall) e Wila) e Y A duaall qulasl =37
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Remarks for (37)
1- The item is allotted 10 marks.
2- The sentence is divided into 2 units. The first unit is allotted 7 marks and the
second unit is allotted 3 marks.
3- Each unit is treated separately.
4- Deduct 1 mark for:
- a missing or wrongly translated word

- a grammar mistake

(N.B) - the total deduction for both grammar and spelling should not exceed

3 marks if the translation still makes sense.
5- Any other logical translation is accepted.
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Model answer (38)

38- The development of economy and public services / is the main target
of the project.

- development: improvement

- public services : facilities/ utilities

- target: goal/ aim/ objective/ purpose

Remarks for (38)

1- The item is allotted 8 marks.

2- The sentence is divided into 2 units. Each unit is allotted 4 marks.
3- Deduct 1 mark for:

- a missing or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning.

(N.B) - the total deduction for both grammar and spelling should not exceed 3 marks

if the translation still makes sense.

4- Any other logical translation is accepted.
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Group 6 - Composition

Remarks:

1- (50 marks) are allotted to this item.

2- Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.

3-If a student writes more than the required number of words, his/her topic is
accepted.

4- a- On average, a paragraph between 70-80 words rates (50 marks).

Each field is allotted 10 marks. (7 marks for spelling and 3 marks for punctuation)
b- A paragraph between 60-69 words rates (45 marks).

Each field is allotted 9 marks. (6 marks for spelling and 3 marks for punctuation)
c- A paragraph between 50-59 words rates (40 marks).

Each field is allotted 8 marks. (5 marks for spelling and 3 marks for punctuation)
d- A paragraph between 40-49 words rates (35 marks).

Each field is allotted 7 marks. (4 marks for spelling and 3 marks for punctuation)
e- a paragraph between 30-39 words rates (25 marks).

Each field is allotted 5 marks. (3 marks for spelling and 2 marks for punctuation)
f- A paragraph between 20-29 words rates (20 marks)

Each field is allotted 4 marks. (3 marks for spelling and 1 marks for punctuation)

g- If the student writes less than 20 words, give 5 marks for each correct

relevant sentence.

N.B. - Overlook the first two spelling mistakes , the first two grammar and
the first two punctuation mistake; then deduct one mark for each
mistake.

- If the student writes about Apamea or any other city, his topic rates zero.
5- The following chart shows the distribution of the (50 marks):
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Communication

Spelling and
punctuation

Vocabulary

Grammar

Task response

outstanding
communication; clear,
coherent and well-
organised text with
complex language when
appropriate.

extremely accurate
spelling and
punctuation in simple
and complex language.

very wide range of
accurate and
appropriate vocabulary
required for the task.

very wide range of
accurate and
appropriate grammar
required for the task.

the task response is
comprehensive, relevant
and well-developed.

(10 marks)

(10 marks)

(10 marks)

(10 marks)

(10 marks)

meaning is clear and
easy to understand,;
good organization.

good punctuation and
spelling; errors may
occur in complex
language.

a good range of
vocabulary; few errors
occur except in complex
vocabulary.

a good range of
grammar usage; few
errors occur except in
complex structures.

response is wholly
relevant but is partially
developed or not fully
exploited.

(9 marks)

(9 marks)

(9 marks)

(9 marks)

(9 marks)

overall meaning is
conveyed with some
errors but without
undue problems for the
reader

errors of punctuation
and spelling occur but
don't cause undue
problems for the reader.

adequate knowledge of
a range of the
vocabulary items
required to carry out the
task.

adequate knowledge of
a range of the grammar;
more accurate than
inaccurate.

largely relevant
response but without
much development or
with some irrelevance.

(8 marks)

(8 marks)

(8 marks)

(8 marks)

(8 marks)

meaning is only
conveyed with
significant effort on the
part of the reader.

errors of punctuation
and spelling create
problems for the reader.

some vocabulary
knowledge but frequent
errors or gaps mean
vocabulary is
insufficient for the task.

some grammar
knowledge but frequent
errors or gaps mean
grammar is insufficient
for the task.

some relevant response
to the task, though at
times the task appears
not to have been
understood.

(7 marks)

(7 marks)

(7 marks)

(7 marks)

(7 marks)

NO response or response
insufficient to grade.

NO response or response
insufficient to grade.

NO response or response
insufficient to grade.

No response or response
insufficient to grade.

NO response or response
insufficient to grade.

ZEero

ZEero

Zero

Zero

Zero

N.B. Deduct 1 mark once for the same repeated mistakes.
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